Ke TNV HETS 3L — B BUR A 5 Pr R BOR AR A R (8) -

w ‘”-‘ 73 NP 4 ] PR

0.0279t 1# 13.4mg/ma
14h 2# 12.8mg/ms? 6h 3#

13.5 mg/ms 3h

M =0.0279/0.65=0.0429t
Ma1# =13.4x 23824x 14x 10°/0.65= 0.0069t
M2# =12.8x 23240x 6x 10°/0.65=0.0027t
M3# =13.5x 25165% 3x 10°/0.65=0.0016t

M +M =0.0429+0.0069+0.0027+ 0.0016+0=0.0541t



Ke TNV HETS 3L — B BUR A 5 Pr R BOR AR A R (8) -

w ‘”-‘ 73 NP 4 ] PR

0.1375t 1# 13.4mg/m?
39h 2# 12.8mg/ma 15h 3#

13.5 mg/ms 16h

M =0.1375/0.65=0.2116t
Ma1# =13.4x 23824x 39x 10°/0.65=0.0192t
M2# =12.8x 23240x 15x 10°°/0.65= 0.0069t
M3# =13.5x 25165% 16x 10°°/0.65= 0.0084t

M +M =0.2116+0.0192+0.0069+ 0.0084+0=0.2461t



Ke TNV HETS 3L — B BUR A 5 Pr R BOR AR A R (8) -

w ‘”-‘ 73 NP 4 ] PR

0.1993t 1# 13.4mg/m?
69h 2# 12.8mg/ma 27h 3#

13.5 mg/ms 23h

M =0.1993/0.65=0.3066t
Ma1# =13.4x 23824x 69x 10°/0.65= 0.0339t
M2# =12.8x 23240x 27x 10°/0.65= 0.0124t
M3# =13.5x 25165% 23x 10°/0.65=0.012t

M +M =0.3066+0.0339+0.0124+ 0.012+0=0.3649t



